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#R=C (1/2)
m m
m m
100kN/m? 100kN/m?
kN/m? m kN/m? m KN/m? m KN/m? m kN/m? m kN/m? kN/m? kN/m? m
1 2 - - 70.68 1.00 - - 10.83 2.02
2 3 - - 78.37 1.00 - - 10.83 2.02
3 4 - - 90.84 1.00 - - 10.13 1.89
4 5 - - 90.84 1.00 - - 12.51 2.34
5 6 - - 70.21 1.00 - - 15.81 2.95
6 7 - - 100.00 1.00 - - 15.81 2.95
7 8 133.84 1.00 100.00 1.00 - - 16.05 3.00
8 9 138.04 1.00 100.00 1.00 16.59 3.10 16.05 3.00
9 10 138.04 1.00 100.00 1.00 - - 16.05 3.00
10 11 - - 100.00 1.00 - - 11.24 2.10
11 12 - - 68.52 1.00 - - 16.05 3.00
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A n
= FR=C (2/2)
m m
m m
100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? m kN/m? kN/m? kN/m? m
13 14 - 96.19 1.00 - 16.05 3.00
14 15 - 96.19 1.00 - 9.74 1.82
15 16 - 77.56 1.00 - 10.93 2.04
16 17 - 51.15 1.00 - 11.98 2.24
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